x10~° 0.2 x10~°

....................................

........................................................................

(@)
TIT [T T [ TI T[T T[T I T I T[rrrT
h o h
TIT [T T [ TI [T T T[T I [T T[rrrT

I
©
N

Y
= f

Ratio

...........................

-1 2 3 -1 2 3
10 1 TPlp())T (PCA t%obeamlin:elf) 10 1 TPlp())T (PCA t%obeamlin:elf)

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquareNew?2_step2_ttbar-phasel-newgeom

g 100 T £ 100

= 80:— """"""""""""""""""""""" = 805- """"""""""""""""""""

s I S S 60 i 38 1 T S
© AOF F e T e v 40}
20F- T 20f--
oF- Fodo oo of
-20F S R I -20f-
~40F- R S - ~40f-
e SR DN RS S -60f-
T T -g0f-
o 100f sl L 100f-

o
iR
=

1 2 3
10 1 1 TPl[g)T (PCA f})obeamlinéf)

<opJp,> (%)
W

I : 2 3
TPlFQT (PCA t%obeamlin%)o



	Contents
	Page 1


